10| If f(x)=3x—2and g(x) = x> =5, what is g(f(2))? (3 o l: ( Qa)
>

/g. 131 3 (35 _;l B
c. -4 L -1 L
D. -5 Ll

Employees of a local car dealership receive a choice of two incentives when buying a car. They can
have a discount of 6% or receive $2,000 off the price of the car. All employees must then pay 6%
sales tax. The following functions model the price of the car after each incentive as well as the price

of the car after sales taxes.
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6% discount f(x) =0.94x
$2,000 off g(x) = x— 2000
Sales tax h(x) = 1.06x

Using the function composition of the sales tax function and one of the incentives, which
composition will produce the lowest price on a car priced at $30,0007?
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Employees of a local car dealership receive a choice of two incentives when buying a car. They can
have a discount of 6% or receive $2,000 off the price of the car. All employees must then pay 6%
sales tax. The following functions model the price of the car after each incentive as well as the price

of the car after sales taxes.

6% discount f(x) = 0.94x
$2,000 off g(x) = x— 2000
Sales tax h(x) = 1.06x &

Using the function composition of the sales tax function and one of the incentives, which
composition will produce the lowest price on a car priced at $30,0007?
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Employees of a local car dealership receive a choice of two incentives when buying a car. They can
have a discount of 6% or receive $2,000 off the price of the car. All employees must then pay 6%
sales tax. The following functions model the price of the car after each incentive as well as the price

of the car after sales taxes.

6% discount f(x) = 0.94x
$2,000 off g(x) = x— 2000
Sales tax h(x) = 1.06x

Using the function composition of the sales tax function and one of the incentives, which
composition will produce the lowest price on a car priced at $30,000?
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